
Project Catalog # Type

Prepared by Notes Date

TD528018EN    page 1
March 26, 2025 12:59 PM

Interactive Menu
•	 Dimensional Details page 1

•	 Ordering Information page 2

•	 Dimensional and Mounting Details page 3

•	 Visor (VHE) Configuration page 4

•	 Performance Data page 5

•	 Optical Performance Data page 6

•	 Ordering Information for Accessories page 8

•	 Accessory Dimensions and Part Details page 9

•	 Example System Topology page 12

Typical Applications
Pro Arenas • University & Collegiate Arenas • University & Collegiate 
Stadiums • Multi-Event & Convention Centers • Gymnasiums & Field Houses

Ephesus
LUMASPORT 8 - Local

White LED Sports & Entertainment Luminaire

Installation 
Instructions

Top Product Features
•	 52,000 to 106,000 lumen output options
•	 Glare and cutoff control via Hybrid Reflector and TIR Optical System
•	 Reduce install time with pre-aimable two-piece assembly
•	 Virtually eliminate maintenance with power redundancy
•	 Industry leading light source reliability with Chip-on-Board LEDs
•	 Greater than 80% lumen maintenance at >66,000 hours.
•	 Wired DMX or Wireless AirMesh controls options to suit your needs
•	 Impact Resistant Glass option protects from vandalization and 

prevents down time in the event of impact to the glass
•	 Options to meet Trade Agreements Act requirements

Dimensional Details
LIGHT HEAD

TOP

HEAD ON

PROFILE

BOTTOM

 12.27 
[311.658mm]

18.89
[479.806mm] 

 7.70
[195.58mm] 

 12.27 
[311.658mm]

18.89
[479.806mm] 

 7.70
[195.58mm] 

 12.27 
[311.658mm]

18.89
[479.806mm] 

 7.70
[195.58mm] 

 12.27 
[311.658mm]

18.89
[479.806mm] 

 7.70
[195.58mm] 

TOP

FRONT

PROFILE

 16.7
424.18mm 

 13.7
347.98mm 

 7.6
193.04mm 

110°
LID CLEARANCE

 16.7
424.18mm 

 13.7
347.98mm 

 7.6
193.04mm 

110°
LID CLEARANCE

 16.7
424.18mm 

 13.7
347.98mm 

 7.6
193.04mm 

110°
LID CLEARANCE

DRIVER BOX

16.7in
[424.18mm]

13.7in
[347.98mm]

7.6in
[193.04mm]

18.89in
[479.806mm]

12.27in
[311.658mm]

7.70in
[195.58mm]

AVA IL A B LE

CO

MPLIANT OPTIONS

TA A
TRADE AGREEMENTS ACT

Light ARchitectTM

Product Certification

https://www.cooperlighting.com/content/dam/cooper-lighting/brands/ephesus/instruction-sheets/ephesus-lumasport-8-installation-manual.pdf
http://https://www.designlights.org/search/?search=ephesus
https://www.lightarchitectapp.com/


LUMASPORT 8 - Local

TD528018EN    page 2
March 26, 2025 12:59 PM

Order Information
NOTE: A complete fixture order requires a selection entry for Brand, Family, Model, Power Configuration, Color, CCT, CRI, Optic, Light Head Cable (DC), Voltage, 
Control, Mount Configuration, Power Cable (AC), Options, Packaging, & International Option.
SAMPLE ORDER NUMBER: EPH-LS-08-0320L-BLK-40-70-1S-C04-HV-LB-LY-A00-HEG-BP-ST
 

Brand Family Model Power 
Configuration Color CCT CRI Optic Light Head Cable (DC)

Brand Family Model
Power  

Configuration Color³ CCT CRI Optic4 Light Head Cable (DC)6

EPH = Ephesus, Standard
TAA=Trade Agreements Act¹

LS = Lumasport 08 = 8 Optics 0320L = 320W 
Local Power² 
0640L = 640W 
Local Power²

BLK = Black
WHT = White

40 = 4000K
57 = 5700K

70 = 70 CRI
80 = 80 CRI

1S	 = NEMA 3	 |  17.5	 |  33.3
2S	 = NEMA 3	 |  21.9	 |  40.2
3S	 = NEMA 3	 |  25.4	 |  45.7
4S	 = NEMA 4	 |  36.0	 |  64.4
5S	 = NEMA 5	 |  46.6	 |  82.6
7F5	= NEMA 7	 |  72.5	 |  131.0

C04 = 4ft Cable, Standard
C107 = 10ft Cable, Catwalk 
Bracket

Notes: 
(1)Only product configurations with 
this designated prefix are built to be 
compliant with the Trade Agreements 
Act of 1979 (TAA). Please refer to 
DOMESTIC PREFERENCES website 
for more information. Components 
shipped separately may be separately 
analyzed under domestic preference 
requirements.

Notes: 
(2) Local Power 
means that the 
light head is 
attached to the 
driver box with the 
yoke or pendant 
mount.

Notes: 
(3) Not coastal 
rated. Contact 
Ephesus for 
coastal fixture 
options. 

Notes:
(4) Optic = NEMA TYPE; BEAM 
ANGLE; FIELD ANGLE. Additional 
optical performance data within 
spec sheet.

(5)7F = NEMA 7 Optic only 
available with 0320L = 320W 
Local Power configuration.

Notes: 
(6) DC Cable connecting the light 
head to the driver box. 

(7) C10 = 10ft Cable is intended to 
be used with the Ephesus Catwalk 
Bracket

Voltage Control Mount 
Configuration Power Cable (AC) Options Packaging International Option

Voltage Control8 Mount Power Cable (AC)9 Options10 Packaging International Option

LV = Low Voltage
HV = High Voltage

NC = No Control 
AM = Wireless AirMesh 
LB = Wired DMX

LY = Local Yoke
LP = Local Pendant

A00 = No Cable, Standard
A04 = 4ft Cable
A10 = 10ft Cable
A15 = 15ft Cable

HEG = No Visor	 |	 High Efficiency Glass Lens 
VHE = Visor	 |	 High Efficiency Glass Lens
CV1 = 1 Louver Cutoff Visor 
CV2 = 2 Louver Cutoff Visor 
CV5 = 5 Louver Cutoff Visor

BP = Bulk Pack ST = Standard

Notes:
(8) Contact Ephesus for 
UL924 compatible options

Notes:
(9) AC Cable connecting the 
Driver Box to the electrical 
power source. 

Notes:
(10)Accessories sold separately will be 
separately analyzed under domestic preference 
requirements. Consult factory for further 
information.

DesignLights Consortium® Qualified. Refer to www.designlights.org Qualified Products List under Family Models for details

https://www.cooperlighting.com/global/resources/programs/domestic-preferences
http://www.designlights.org


LUMASPORT 8 - Local

TD528018EN    page 3
March 26, 2025 12:59 PM

Dimensional and Mounting Details

18.89in
479.8mm

20.36in
517.2mm

13.76in
349.4mm

24.39in
619.5mm

18.89in
479.8mm

20.36in
517.2mm

13.76in
349.4mm

24.39in
619.5mm

18.89in
479.8mm

20.36in
517.2mm

13.76in
349.4mm

24.39in
619.5mm

THIS SIDE UP

30.73in
780.6mm

23.3in
592.9mm

23.02in
584.8mm

MOUNTING CONFIGURATION: LOCAL YOKE

THIS SIDE UP

20.36
MOUNTING CONFIGURATION: LOCAL PENDANT

20.36

13.73in
348.82mm

7.60in
193.12mm

20.36in
517.04mm

20.36in
517.18mm

.813in
20.66mm

2.900in
73.66mm

13.73in
348.82mm

7.60in
193.12mm

20.36in
517.04mm

20.36in
517.18mm

.813in
20.66mm

2.900in
73.66mm

MOUNTING: DRIVER BOX

LEFT PROFILE

LEFT PROFILE

BOTTOM: LATERAL ORIENTATION MOUNT

TOP

HEAD ON

HEAD ON

[20.66mm]
.813in

 [11.11mm]
.44in

 
[73.66mm]

2.90in

.75in
[19.05mm] 

BASE 
THICKNESS

[20.66mm]
.813in

 [11.11mm]
.44in

 
[73.66mm]

2.90in

.75in
[19.05mm] 

BASE 
THICKNESS

BOTTOM

LATERAL ORIENTATION MOUNT

.44in
[11.11mm]

Ø2.90in
[73.66mm]

Ø.813in
[20.66mm]

.75in
[19.05mm]

BASE  
THICKNESS

13.76in
[349.4mm]

24.39in
[619.5mm]

20.36in
[517.18mm]

7.60in
[193.12mm]

13.73in
[348.81mm]

20.36in
[517.18mm]

18.89in
[479.8mm]

20.36in
[517.2mm]



LUMASPORT 8 - Local

TD528018EN    page 4
March 26, 2025 12:59 PM

VHE Visor Option Dimensional Details

1

1X

2

4X

3

4X
T1

T1

 13.65 

 12.26 

 18.89 

NOTES :

THIS PAGE USED FOR VISOR ASSEMBLY ONLY1.

POWDER COATED COMPONENTS MUST BE FREE FROM VISIBLE SCRATCHES AND SURFACE BLEMISHES 2.
ACCORDING TO CTQ INSPECTION REQUIREMENTS. SCRATCHES TO BE REPAIRED ONLY WITH APPROVED 
TOUCH UP PAINT
ALL FASTENERS TO BE TORQUED AS SPECIFIED IN TABLE 1. ALL FASTENER HEADS MUST BE FULLY 3.
SEATED UNLESS OTHERWISE SPECIFIED
ACCESSORY COMPONENTS  LISTED IN TABLE 2 BOM4.

TABLE 1: TORQUE

TORQUE 
DESIGNATION THREAD SIZE TORQUE IN*LBS

T1 1/4-20 82-87

TABLE 2: ACCESSORY BOM
ITEM NO DESCRIPTION QTY

1 VISOR 1
2 STANDOFF 4

3
1/4-20 X 1/2" 

FLANGED SCREW 
WITH LOCK PATCH

4

D

C

B

A

B

C

D

12345678

8 7 6 5 4 3 2 1

E

F

E

F

ATHIRD ANGLE PROJECTION

MATERIAL:

METRIC (mm)

ENGLISH (IN) .X
.XX
.XXX
X.
.X
.XX

DIMENSIONS ARE IN INCHES
DIMENSIONS IN [ ] ARE IN mm

ELECTRONIC CAD DRAWING.  DO 
NOT REVISE MANUALLY.

TITLE:

SIZE: DWG NO: REV:

SHEETVOL:WT:SCALE:SURFACE AREA:DO NOT SCALE DRAWING

FINISH:

APPR:

CHKD:

DRWN:

DATEAPPROVALS
.040
.020
.010
1
0.5
0.25

x.x

x.x

DENOTES CRITICAL
DIMENSIONS AND
GAUGE CHECK POINTS

DENOTES FIRST 
PIECE 
INSPECTION ONLY

FPC

PRODUCT MUST CONFORM TO ROHS
COOPER LIGHTING SOLUTIONS - CONFIDENTIAL AND PROPRIETARY
NOTICE TO PERSONS RECEIVING THIS DOCUMENT AND/OR TECHNICAL INFORMATION
THIS DOCUMENT, INCLUDING THE DRAWING AND INFORMATION CONTAINED THEREON, IS CONFIDENTIAL 
AND IS THE EXCLUSIVE PROPERTY OF COOPER LIGHTING SOLUTIONS, AND IS MERELY ON LOAN AND 
SUBJECT TO RECALL BY COOPER LIGHTING SOLUTIONS AT ANY TIME. BY TAKING POSSESSION OF THIS 
DOCUMENT, THE RECIPIENT ACKNOWLEDGES AND AGREES THAT THIS DOCUMENT CANNOT BE USED IN 
ANY MANNER ADVERSE TO THE INTERESTS OF COOPER LIGHTING SOLUTIONS, AND THAT NO PORTION 
OF THIS DOCUMENT MAY BE COPIED OR OTHERWISE REPRODUCED WITHOUT THE PRIOR WRITTEN 
CONSENT OF COOPER LIGHTING SOLUTIONS. IN THE CASE OF CONFLICTING CONTRACTUAL 
PROVISIONS, THIS NOTICE SHALL GOVERN THE STATUS OF THIS DOCUMENT. MATERIAL MASTER

LS8 ACCESSORY ASSEMBLIES

C EEL-X8-0107   
65.82 LB 3

EE
L-

X8
-0

10
7

L MOD: E0420542 9/4/2020

DIMENSIONS THAT AFFECT 
SAFE HANDLING OR 
OPERATION

S

TOLERANCE GENERAL

5568.25 IN2 563.25 IN3 2 OF

 
 
 
 
 
 
 
 
 

ANGLES ALL 1.0

C
oo

pe
r L

ig
ht

in
g 

 S
ol

ut
io

ns
 T

em
pl

at
e 

R
ev

 A

IP LEVEL:

DENOTES FIRST PIECE 
AND IN-PROCESS 
INSPECTION

1

1X

2

4X

3

4X
T1

T1

 13.65 

 12.26 

 18.89 

NOTES :

THIS PAGE USED FOR VISOR ASSEMBLY ONLY1.

POWDER COATED COMPONENTS MUST BE FREE FROM VISIBLE SCRATCHES AND SURFACE BLEMISHES 2.
ACCORDING TO CTQ INSPECTION REQUIREMENTS. SCRATCHES TO BE REPAIRED ONLY WITH APPROVED 
TOUCH UP PAINT
ALL FASTENERS TO BE TORQUED AS SPECIFIED IN TABLE 1. ALL FASTENER HEADS MUST BE FULLY 3.
SEATED UNLESS OTHERWISE SPECIFIED
ACCESSORY COMPONENTS  LISTED IN TABLE 2 BOM4.

TABLE 1: TORQUE

TORQUE 
DESIGNATION THREAD SIZE TORQUE IN*LBS

T1 1/4-20 82-87

TABLE 2: ACCESSORY BOM
ITEM NO DESCRIPTION QTY

1 VISOR 1
2 STANDOFF 4

3
1/4-20 X 1/2" 

FLANGED SCREW 
WITH LOCK PATCH

4

D

C

B

A

B

C

D

12345678

8 7 6 5 4 3 2 1

E

F

E

F

ATHIRD ANGLE PROJECTION

MATERIAL:

METRIC (mm)

ENGLISH (IN) .X
.XX
.XXX
X.
.X
.XX

DIMENSIONS ARE IN INCHES
DIMENSIONS IN [ ] ARE IN mm

ELECTRONIC CAD DRAWING.  DO 
NOT REVISE MANUALLY.

TITLE:

SIZE: DWG NO: REV:

SHEETVOL:WT:SCALE:SURFACE AREA:DO NOT SCALE DRAWING

FINISH:

APPR:

CHKD:

DRWN:

DATEAPPROVALS
.040
.020
.010
1
0.5
0.25

x.x

x.x

DENOTES CRITICAL
DIMENSIONS AND
GAUGE CHECK POINTS

DENOTES FIRST 
PIECE 
INSPECTION ONLY

FPC

PRODUCT MUST CONFORM TO ROHS
COOPER LIGHTING SOLUTIONS - CONFIDENTIAL AND PROPRIETARY
NOTICE TO PERSONS RECEIVING THIS DOCUMENT AND/OR TECHNICAL INFORMATION
THIS DOCUMENT, INCLUDING THE DRAWING AND INFORMATION CONTAINED THEREON, IS CONFIDENTIAL 
AND IS THE EXCLUSIVE PROPERTY OF COOPER LIGHTING SOLUTIONS, AND IS MERELY ON LOAN AND 
SUBJECT TO RECALL BY COOPER LIGHTING SOLUTIONS AT ANY TIME. BY TAKING POSSESSION OF THIS 
DOCUMENT, THE RECIPIENT ACKNOWLEDGES AND AGREES THAT THIS DOCUMENT CANNOT BE USED IN 
ANY MANNER ADVERSE TO THE INTERESTS OF COOPER LIGHTING SOLUTIONS, AND THAT NO PORTION 
OF THIS DOCUMENT MAY BE COPIED OR OTHERWISE REPRODUCED WITHOUT THE PRIOR WRITTEN 
CONSENT OF COOPER LIGHTING SOLUTIONS. IN THE CASE OF CONFLICTING CONTRACTUAL 
PROVISIONS, THIS NOTICE SHALL GOVERN THE STATUS OF THIS DOCUMENT. MATERIAL MASTER

LS8 ACCESSORY ASSEMBLIES

C EEL-X8-0107   
65.82 LB 3

EE
L-

X8
-0

10
7

L MOD: E0420542 9/4/2020

DIMENSIONS THAT AFFECT 
SAFE HANDLING OR 
OPERATION

S

TOLERANCE GENERAL

5568.25 IN2 563.25 IN3 2 OF

 
 
 
 
 
 
 
 
 

ANGLES ALL 1.0

C
oo

pe
r L

ig
ht

in
g 

 S
ol

ut
io

ns
 T

em
pl

at
e 

R
ev

 A

IP LEVEL:

DENOTES FIRST PIECE 
AND IN-PROCESS 
INSPECTION

 LEFT PROFILE: VISOR TOP: VISOR

13.65in
[346.71mm]

18.89in
[479.806mm]

NOTES:

The addition of a visor adds 1lb of material to the luminaire weight.



LUMASPORT 8 - Local

TD528018EN    page 5
March 26, 2025 12:59 PM

CV1, CV2, CV5 Cutoff Visor Options

CV1, CV2, CV5 Cutoff Visor Option Dimensional Details

 18.9 

 1
2.

3 

VC 1 VC 2 VC 3

 18.9 

 1
2.

3 

VC 1 VC 2 VC 3

 18.9 

 1
2.

3 

VC 1 VC 2 VC 3

 18.9 

 1
2.

3 

VC 1 VC 2 VC 3

 18.9 

 1
2.

3 

VC 1 VC 2 VC 3

 18.9 

 1
2.

3 

VC 1 VC 2 VC 3

CV1 CV2 CV5

18.9in
[480.06mm]

12
.3

in
[3

12
.4

2m
m

]

 1
2.

3 

 1
3.

7 

 18.9 

 9
.5

 

 6.0 

18.9in
[480.06mm]

13
.7

in
[3

47
.9

8m
m

]

 1
2.

3 

 1
3.

7 

 18.9 

 9
.5

 

 6.0 6.0in
[152.4mm]

12
.3

in
[3

12
.4

2m
m

]

9.
5i

n
[2

41
.3

m
m

]



LUMASPORT 8 - Local

TD528018EN    page 6
March 26, 2025 12:59 PM

Performance Data¹

NOTES: 

(1) Specifications are subject to change without notice. 
(2) Refer to Optical Performance Data. 
(3) Values are +/- 4% when fixture is operated at 25°C ambient 
(4) Values are +/- 2% 
(5) Values are +/- 3 points. 
(6) When driver box is mounted in upright position. 
(7) Light head meets NEMA4X Certification 
(8) LumaSport 8 with Visors (VHE, CV1, CV2, CV5) qualifies for ANSI C136, 31-2010 1.5G 
(9) EPA may vary depending on the aiming angle of the fixture. 
(10) Weight may vary depending on mounting bracket, VHE Visor option,  light head and driver box selection. 

LUMASPORT 8 (320W) LUMASPORT 8 (640W)

Lumen Output Range2 52,000 - 61,000lm 90,000 - 106,000lm

Nominal Power3 340W 680W

Input Voltage (Low Voltage) 120-277VAC 120-277VAC

Input Voltage (High Voltage) 347-480VAC 347-480VAC

Efficacy Range2 151 - 178lm/W 137 - 162lm/W

CRI4 70, 80 70, 80

TLCI5 75 75

CCT Range 4000K, 5700K 4000K, 5700K

Distribution (NEMA) 3-5 , 7 3-5 

Dimming Range DIM TO OFF, 10%-100% DIM TO OFF, 10%-100%

Operating Temperature Range -40°C to +40°C -40°C to +40°C

Usage INDOOR, OUTDOOR6 INDOOR, OUTDOOR6

Mounting Options (3G RATED) LOCAL YOKE; LOCAL PENDANT LOCAL YOKE; LOCAL PENDANT

Electrical Certifications FCC, UL8750, UL1598, DLC Standard (NANQSV) FCC, UL8750, UL1598, DLC Standard (NANQSV)

Environmental Certifications IP66, NEMA4X7 IP66, NEMA4X7

Vibration ANSI C136.31-2010 3G8 ANSI C136.31-2010 3G8

Surge 10kV 10kV

Effective Projected Area (EPA) 1.8 (sq. ft.) 1.8 (sq. ft.)

Effective Projected Area (EPA)  
with Visor (VHE , CV1, CV2, CV5)9 1.8 - 2.5 (sq. ft.) 1.8 - 2.5 (sq. ft.)

Approximate Weight10 67.5 LBS 71.5 LBS

Approximate Weight with Visor (VHE , CV1, CV2, CV5)10 71.5 LBS 75.5 LBS

Electrical Performance Data

Product Input Voltage  
Range (VAC)

Nominal  
Input Power (W)

Input  
Current (A)

Power Factor
(>60% Load)

THD 
(>60% Load)

Inrush 
(A2s)

Inrush 
period 
(ms)

Peak  
Inrush (A)

LS-8-320
120-277 340 (365 Max) 1.3 - 3.0  

(4.0 Max) > 0.9 < 20% 1.9 3.52 150

347-480 340 (365 Max) 0.7 - 1.0  
(1.5 Max) > 0.9 < 20% 3.87 1.77 70

LS-8-640
120-277 680 (740 Max) 2.5 - 5.9  

(8.0 Max) > 0.9 < 20% 3.8 3.52 300

347-480 680 (740 Max) 1.5 - 2.0  
(3.0 Max) > 0.9 < 20% 7.74 1.77 140



LUMASPORT 8 - Local

TD528018EN    page 7
March 26, 2025 12:59 PM

Ordering Information for Accessories
NOTE: A complete accessory order requires a selection entry for Brand, Accessory, Option.
SAMPLE ORDER NUMBER: EPH-HRDM34-025

Brand Accessory Option

Brand Accessory Option Intended Use

EPH = Ephesus EXTPLT = Extension Plate¹ 025 = .25in
050 = .5in
200 = 2.0in

Extension Plate Kit to mount to structures .25In, .5In, or 
2.00In thick. Designed to be used with the LUMASPORT 8, 
LUMADAPT 8, LUMASPORT 8 PRISM luminaires only.

DVGBRD = Diving Board² Diving Board to mount to 2in x 4in steel cross arms. 
Designed to be used with the LUMASPORT 8, LUMASPORT 
16, LUMASPORT 8 PRISM luminaires only.

HRDM58 = Mounting Hardware  5/8in diameter 050 = .375in - .50in Range of Clamping Thickness³
200 = 2in Clamping Thickness³

HRDM58-050: .375-.500in clamping thickness, Use for 
Extension Plate (EXTPLT) or other flat surfaces drilled for 
5/8in hardware

HRDM58-200:  2.00in clamping thickness, use for 2in x 4in 
Cross arms that are drilled for 5/8in hardware

HRDM34 = Mounting Hardware 3/4in diameter 025 = .25in4 
075 = .75in4
200 = 2in4

HRDM34-025: .25-.50in clamping thickness, use for diving 
board (DVGBRD) or other flat surfaces drilled for 3/4in 
hardware

HRDM34-075: .50-.75in clamping thickness,  flat surfaces 
drilled for 3/4in hardware

HRDM34-200: 2.00in clamping thickness, use for 2in x 4in 
Cross arms that are drilled for 3/4in hardware 

Notes:
(1) Additional mounting fastener hardware kit needed to 
attach a fixture to the EXTPLT = Extension Plate
(2) Additional mounting fastener hardware kit needed to 
attach a fixture to the DVGBRD = Diving Board

Notes: 
(3) Option only available for use  with HRDM58
(4) Option only available for use  with HRDM34



LUMASPORT 8 - Local

TD528018EN    page 8
March 26, 2025 12:59 PM

 .25" , .50", OR 2.00" 

 14.50 

 6.00 

1.45
3X

1.45
3X

.63 THRU
6X

.75 THRU
3X

 3.00 

 11.00 

 1.24 

.38
3X

.63
3X

 45.00° 

2.89
B.C.D.

 CLAMPING THICKNESS 

D

C

B

A

B

C

D

12345678

8 7 6 5 4 3 2 1

E

F

E

F

ATHIRD ANGLE PROJECTION

MATERIAL:

METRIC (mm)

ENGLISH (IN) .X
.XX
.XXX
X.
.X
.XX

DIMENSIONS ARE IN INCHES
DIMENSIONS IN [ ] ARE IN mm

ELECTRONIC CAD DRAWING.  DO 
NOT REVISE MANUALLY.

TITLE:

SIZE: DWG NO: REV:

SHEETVOL:WT:SCALE:SURFACE AREA:DO NOT SCALE DRAWING

FINISH:

APPR:

CHKD:

DRWN:

DATEAPPROVALS
.040
.020
.010
1
0.5
0.25

x.x

x.x

DENOTES CRITICAL
DIMENSIONS AND
GAUGE CHECK POINTS

DENOTES FIRST 
PIECE 
INSPECTION ONLY

FPC

PRODUCT MUST CONFORM TO ROHS
COOPER LIGHTING SOLUTIONS - CONFIDENTIAL AND PROPRIETARY
NOTICE TO PERSONS RECEIVING THIS DOCUMENT AND/OR TECHNICAL INFORMATION
THIS DOCUMENT, INCLUDING THE DRAWING AND INFORMATION CONTAINED THEREON, IS CONFIDENTIAL 
AND IS THE EXCLUSIVE PROPERTY OF COOPER LIGHTING SOLUTIONS, AND IS MERELY ON LOAN AND 
SUBJECT TO RECALL BY COOPER LIGHTING SOLUTIONS AT ANY TIME. BY TAKING POSSESSION OF THIS 
DOCUMENT, THE RECIPIENT ACKNOWLEDGES AND AGREES THAT THIS DOCUMENT CANNOT BE USED IN 
ANY MANNER ADVERSE TO THE INTERESTS OF COOPER LIGHTING SOLUTIONS, AND THAT NO PORTION 
OF THIS DOCUMENT MAY BE COPIED OR OTHERWISE REPRODUCED WITHOUT THE PRIOR WRITTEN 
CONSENT OF COOPER LIGHTING SOLUTIONS. IN THE CASE OF CONFLICTING CONTRACTUAL 
PROVISIONS, THIS NOTICE SHALL GOVERN THE STATUS OF THIS DOCUMENT. MATERIAL MASTER

EXTENSION PLATE

C EEL-BT-0220- Marketing  1

1.85 LB 4

EE
L-

BT
-0

22
0-

 M
ar

ke
tin

g

L MOD: E0420542 9/17/2020

DIMENSIONS THAT AFFECT 
SAFE HANDLING OR 
OPERATION

S

TOLERANCE GENERAL

271.90 IN2 51.08 IN3 2 OF

 
 
 
 
 
 
 
 
 

ANGLES ALL 1.0

Co
op

er
 L

ig
ht

in
g 

 S
ol

ut
io

ns
 T

em
pl

at
e 

Re
v 

A

IP LEVEL:

DENOTES FIRST PIECE 
AND IN-PROCESS 
INSPECTION

 .25" , .50", OR 2.00" 

 14.50 

 6.00 

1.45
3X

1.45
3X

.63 THRU
6X

.75 THRU
3X

 3.00 

 11.00 

 1.24 

.38
3X

.63
3X

 45.00° 

2.89
B.C.D.

 CLAMPING THICKNESS 

D

C

B

A

B

C

D

12345678

8 7 6 5 4 3 2 1

E

F

E

F

ATHIRD ANGLE PROJECTION

MATERIAL:

METRIC (mm)

ENGLISH (IN) .X
.XX
.XXX
X.
.X
.XX

DIMENSIONS ARE IN INCHES
DIMENSIONS IN [ ] ARE IN mm

ELECTRONIC CAD DRAWING.  DO 
NOT REVISE MANUALLY.

TITLE:

SIZE: DWG NO: REV:

SHEETVOL:WT:SCALE:SURFACE AREA:DO NOT SCALE DRAWING

FINISH:

APPR:

CHKD:

DRWN:

DATEAPPROVALS
.040
.020
.010
1
0.5
0.25

x.x

x.x

DENOTES CRITICAL
DIMENSIONS AND
GAUGE CHECK POINTS

DENOTES FIRST 
PIECE 
INSPECTION ONLY

FPC

PRODUCT MUST CONFORM TO ROHS
COOPER LIGHTING SOLUTIONS - CONFIDENTIAL AND PROPRIETARY
NOTICE TO PERSONS RECEIVING THIS DOCUMENT AND/OR TECHNICAL INFORMATION
THIS DOCUMENT, INCLUDING THE DRAWING AND INFORMATION CONTAINED THEREON, IS CONFIDENTIAL 
AND IS THE EXCLUSIVE PROPERTY OF COOPER LIGHTING SOLUTIONS, AND IS MERELY ON LOAN AND 
SUBJECT TO RECALL BY COOPER LIGHTING SOLUTIONS AT ANY TIME. BY TAKING POSSESSION OF THIS 
DOCUMENT, THE RECIPIENT ACKNOWLEDGES AND AGREES THAT THIS DOCUMENT CANNOT BE USED IN 
ANY MANNER ADVERSE TO THE INTERESTS OF COOPER LIGHTING SOLUTIONS, AND THAT NO PORTION 
OF THIS DOCUMENT MAY BE COPIED OR OTHERWISE REPRODUCED WITHOUT THE PRIOR WRITTEN 
CONSENT OF COOPER LIGHTING SOLUTIONS. IN THE CASE OF CONFLICTING CONTRACTUAL 
PROVISIONS, THIS NOTICE SHALL GOVERN THE STATUS OF THIS DOCUMENT. MATERIAL MASTER

EXTENSION PLATE

C EEL-BT-0220- Marketing  1

1.85 LB 4

EE
L-

BT
-0

22
0-

 M
ar

ke
tin

g

L MOD: E0420542 9/17/2020

DIMENSIONS THAT AFFECT 
SAFE HANDLING OR 
OPERATION

S

TOLERANCE GENERAL

271.90 IN2 51.08 IN3 2 OF

 
 
 
 
 
 
 
 
 

ANGLES ALL 1.0

Co
op

er
 L

ig
ht

in
g 

 S
ol

ut
io

ns
 T

em
pl

at
e 

Re
v 

A

IP LEVEL:

DENOTES FIRST PIECE 
AND IN-PROCESS 
INSPECTION

 .25" , .50", OR 2.00" 

 14.50 

 6.00 

1.45
3X

1.45
3X

.63 THRU
6X

.75 THRU
3X

 3.00 

 11.00 

 1.24 

.38
3X

.63
3X

 45.00° 

2.89
B.C.D.

 CLAMPING THICKNESS 

D

C

B

A

B

C

D

12345678

8 7 6 5 4 3 2 1

E

F

E

F

ATHIRD ANGLE PROJECTION

MATERIAL:

METRIC (mm)

ENGLISH (IN) .X
.XX
.XXX
X.
.X
.XX

DIMENSIONS ARE IN INCHES
DIMENSIONS IN [ ] ARE IN mm

ELECTRONIC CAD DRAWING.  DO 
NOT REVISE MANUALLY.

TITLE:

SIZE: DWG NO: REV:

SHEETVOL:WT:SCALE:SURFACE AREA:DO NOT SCALE DRAWING

FINISH:

APPR:

CHKD:

DRWN:

DATEAPPROVALS
.040
.020
.010
1
0.5
0.25

x.x

x.x

DENOTES CRITICAL
DIMENSIONS AND
GAUGE CHECK POINTS

DENOTES FIRST 
PIECE 
INSPECTION ONLY

FPC

PRODUCT MUST CONFORM TO ROHS
COOPER LIGHTING SOLUTIONS - CONFIDENTIAL AND PROPRIETARY
NOTICE TO PERSONS RECEIVING THIS DOCUMENT AND/OR TECHNICAL INFORMATION
THIS DOCUMENT, INCLUDING THE DRAWING AND INFORMATION CONTAINED THEREON, IS CONFIDENTIAL 
AND IS THE EXCLUSIVE PROPERTY OF COOPER LIGHTING SOLUTIONS, AND IS MERELY ON LOAN AND 
SUBJECT TO RECALL BY COOPER LIGHTING SOLUTIONS AT ANY TIME. BY TAKING POSSESSION OF THIS 
DOCUMENT, THE RECIPIENT ACKNOWLEDGES AND AGREES THAT THIS DOCUMENT CANNOT BE USED IN 
ANY MANNER ADVERSE TO THE INTERESTS OF COOPER LIGHTING SOLUTIONS, AND THAT NO PORTION 
OF THIS DOCUMENT MAY BE COPIED OR OTHERWISE REPRODUCED WITHOUT THE PRIOR WRITTEN 
CONSENT OF COOPER LIGHTING SOLUTIONS. IN THE CASE OF CONFLICTING CONTRACTUAL 
PROVISIONS, THIS NOTICE SHALL GOVERN THE STATUS OF THIS DOCUMENT. MATERIAL MASTER

EXTENSION PLATE

C EEL-BT-0220- Marketing  1

1.85 LB 4

EE
L-

BT
-0

22
0-

 M
ar

ke
tin

g

L MOD: E0420542 9/17/2020

DIMENSIONS THAT AFFECT 
SAFE HANDLING OR 
OPERATION

S

TOLERANCE GENERAL

271.90 IN2 51.08 IN3 2 OF

 
 
 
 
 
 
 
 
 

ANGLES ALL 1.0

Co
op

er
 L

ig
ht

in
g 

 S
ol

ut
io

ns
 T

em
pl

at
e 

Re
v 

A

IP LEVEL:

DENOTES FIRST PIECE 
AND IN-PROCESS 
INSPECTION

 .25" , .50", OR 2.00" 

 14.50 

 6.00 

1.45
3X

1.45
3X

.63 THRU
6X

.75 THRU
3X

 3.00 

 11.00 

 1.24 

.38
3X

.63
3X

 45.00° 

2.89
B.C.D.

 CLAMPING THICKNESS 

D

C

B

A

B

C

D

1 2 3 4 5 6 7 8

87654321

E

F

E

F

A
THIRD ANGLE PROJECTION

MATERIAL:

METRIC (mm)

ENGLISH (IN)
.X
.XX
.XXX
X.
.X
.XX

DIMENSIONS ARE IN INCHES
DIMENSIONS IN [ ] ARE IN mm

ELECTRONIC CAD DRAWING.  DO 
NOT REVISE MANUALLY.

TITLE:

SIZE:DWG NO:REV:

SHEET VOL: WT: SCALE: SURFACE AREA: DO NOT SCALE DRAWING

FINISH:

APPR:

CHKD:

DRWN:

DATE APPROVALS
.040
.020
.010
1
0.5
0.25

x.x

x.x

DENOTES CRITICAL
DIMENSIONS AND
GAUGE CHECK POINTS

DENOTES FIRST 
PIECE 
INSPECTION ONLY F P C

PRODUCT MUST CONFORM TO ROHS
COOPER LIGHTING SOLUTIONS - CONFIDENTIAL AND PROPRIETARY
NOTICE TO PERSONS RECEIVING THIS DOCUMENT AND/OR TECHNICAL INFORMATION
THIS DOCUMENT, INCLUDING THE DRAWING AND INFORMATION CONTAINED THEREON, IS CONFIDENTIAL 
AND IS THE EXCLUSIVE PROPERTY OF COOPER LIGHTING SOLUTIONS, AND IS MERELY ON LOAN AND 
SUBJECT TO RECALL BY COOPER LIGHTING SOLUTIONS AT ANY TIME. BY TAKING POSSESSION OF THIS 
DOCUMENT, THE RECIPIENT ACKNOWLEDGES AND AGREES THAT THIS DOCUMENT CANNOT BE USED IN 
ANY MANNER ADVERSE TO THE INTERESTS OF COOPER LIGHTING SOLUTIONS, AND THAT NO PORTION 
OF THIS DOCUMENT MAY BE COPIED OR OTHERWISE REPRODUCED WITHOUT THE PRIOR WRITTEN 
CONSENT OF COOPER LIGHTING SOLUTIONS. IN THE CASE OF CONFLICTING CONTRACTUAL 
PROVISIONS, THIS NOTICE SHALL GOVERN THE STATUS OF THIS DOCUMENT.MATERIAL MASTER

EXTENSION PLATE

CEEL-BT-0220- Marketing 1

1.85 LB4

EEL-BT-0220- Marketing

L MOD:E04205429/17/2020

DIMENSIONS THAT AFFECT 
SAFE HANDLING OR 
OPERATION S

TOLERANCEGENERAL

271.90 IN251.08 IN32OF

 
 
 
 
 
 
 
 
 

ANGLESALL1.0

Cooper Lighting  Solutions Tem
plate Rev A

IP LEVEL:

DENOTES FIRST PIECE 
AND IN-PROCESS 
INSPECTION

 .25" , .50", OR 2.00" 

 14.50 

 6.00 

1.45
3X

1.45
3X

.63 THRU
6X

.75 THRU
3X

 3.00 

 11.00 

 1.24 

.38
3X

.63
3X

 45.00° 

2.89
B.C.D.

 CLAMPING THICKNESS 

D

C

B

A

B

C

D

12345678

8 7 6 5 4 3 2 1

E

F

E

F

ATHIRD ANGLE PROJECTION

MATERIAL:

METRIC (mm)

ENGLISH (IN) .X
.XX
.XXX
X.
.X
.XX

DIMENSIONS ARE IN INCHES
DIMENSIONS IN [ ] ARE IN mm

ELECTRONIC CAD DRAWING.  DO 
NOT REVISE MANUALLY.

TITLE:

SIZE: DWG NO: REV:

SHEETVOL:WT:SCALE:SURFACE AREA:DO NOT SCALE DRAWING

FINISH:

APPR:

CHKD:

DRWN:

DATEAPPROVALS
.040
.020
.010
1
0.5
0.25

x.x

x.x

DENOTES CRITICAL
DIMENSIONS AND
GAUGE CHECK POINTS

DENOTES FIRST 
PIECE 
INSPECTION ONLY

FPC

PRODUCT MUST CONFORM TO ROHS
COOPER LIGHTING SOLUTIONS - CONFIDENTIAL AND PROPRIETARY
NOTICE TO PERSONS RECEIVING THIS DOCUMENT AND/OR TECHNICAL INFORMATION
THIS DOCUMENT, INCLUDING THE DRAWING AND INFORMATION CONTAINED THEREON, IS CONFIDENTIAL 
AND IS THE EXCLUSIVE PROPERTY OF COOPER LIGHTING SOLUTIONS, AND IS MERELY ON LOAN AND 
SUBJECT TO RECALL BY COOPER LIGHTING SOLUTIONS AT ANY TIME. BY TAKING POSSESSION OF THIS 
DOCUMENT, THE RECIPIENT ACKNOWLEDGES AND AGREES THAT THIS DOCUMENT CANNOT BE USED IN 
ANY MANNER ADVERSE TO THE INTERESTS OF COOPER LIGHTING SOLUTIONS, AND THAT NO PORTION 
OF THIS DOCUMENT MAY BE COPIED OR OTHERWISE REPRODUCED WITHOUT THE PRIOR WRITTEN 
CONSENT OF COOPER LIGHTING SOLUTIONS. IN THE CASE OF CONFLICTING CONTRACTUAL 
PROVISIONS, THIS NOTICE SHALL GOVERN THE STATUS OF THIS DOCUMENT. MATERIAL MASTER

EXTENSION PLATE

C EEL-BT-0220- Marketing  1

1.85 LB 4

EE
L-

BT
-0

22
0-

 M
ar

ke
tin

g

L MOD: E0420542 9/17/2020

DIMENSIONS THAT AFFECT 
SAFE HANDLING OR 
OPERATION

S

TOLERANCE GENERAL

271.90 IN2 51.08 IN3 2 OF

 
 
 
 
 
 
 
 
 

ANGLES ALL 1.0

Co
op

er
 L

ig
ht

in
g 

 S
ol

ut
io

ns
 T

em
pl

at
e 

Re
v 

A

IP LEVEL:

DENOTES FIRST PIECE 
AND IN-PROCESS 
INSPECTION

Extension Plate (EXTPLT) Dimension and Part Details:

14.5in
[368.3mm]

11in
[279.4mm]

1.24in
[31.496mm] 1.45in

[36.83mm] 
3X

1.45in
[36.83mm] 

3X

3in
[76.2mm]

6in
[152.4mm]

ø.63in
[16.002mm]

3X

.63in
[16.002mm]

3X

.38in
[9.652mm]

3X

ø.75in
[19.05mm]

3X

ø2.89in
[73.406mm]

B.C.D.

(45.00°)

.25in, .50in, or 2.00in
[6.35mm, 12.7mm, or 50.8mm]

CLAMPING  
THICKNESS

TOP

REARLEFT PROFILE

.50in 
[12.7mm]

Extension Plate Kit Parts  
DESCRIPTION QUANTITY
Extension Plate 1

Washer Plate 1

5/8in Hex Bolt 1

5/8in Washer 2

5/8in-11 Hex Nut 1

5/8in Split Washer 1

3/8in Washer 2

3/8in Hex Bolt 1

3/8in Split Washer 1

3/8in-16 Hex Nut 1

Extension Plate Data  
MODEL # WEIGHT (LBS)
EXTPLT 14.63

EXTPLT + HRDM58-050 15.28



LUMASPORT 8 - Local

TD528018EN    page 9
March 26, 2025 12:59 PM

Diving Board (DVGBRD) Dimension and Part Details:

Diving Board Parts  
DESCRIPTION QUANTITY
Welded Bracket 1

Bolt Sleeve 2

3/4in-10 X 6in Structural Hex Bolt, Hot Dip Galvanized 2

3/4in Steel Flat Washer, Hot DIp Galvanized 2

3/4in Ext Tooth Washer, Steel, Magni-565 Grey Polycoat 2

3/4in-10 Structural Steel Hex Nut, Hot Dip Galvanized 2

Stainless Shim 1

Diving Board Data  
MODEL # WEIGHT (LBS)
DVGBRD 15.1

DVGBRD + HRDM34-025 16.1

LUMASPORT 8

TD528018EN    page 10
February 15, 2021 9:27 PM

 4.38 

 4.00 

 2.13 

 10.00 

 6.00 

.41
4X  .81 

 2.88 

 108.00° 

 4.38 

D

C

B

A

B

C

D

12345678

8 7 6 5 4 3 2 1

E

F

E

F

ATHIRD ANGLE PROJECTION

MATERIAL:

METRIC (mm)

ENGLISH (IN) .X
.XX
.XXX
X.
.X
.XX

DIMENSIONS ARE IN INCHES
DIMENSIONS IN [ ] ARE IN mm

ELECTRONIC CAD DRAWING.  DO 
NOT REVISE MANUALLY.

TITLE:

SIZE: DWG NO: REV:

SHEETVOL:WT:SCALE:SURFACE AREA:DO NOT SCALE DRAWING

FINISH:

APPR:

CHKD:

DRWN:

DATEAPPROVALS
.040
.020
.010
1
0.5
0.25

x.x

x.x

DENOTES CRITICAL
DIMENSIONS AND
GAUGE CHECK POINTS

DENOTES FIRST 
PIECE 
INSPECTION ONLY

FPC

PRODUCT MUST CONFORM TO ROHS
COOPER LIGHTING SOLUTIONS - CONFIDENTIAL AND PROPRIETARY
NOTICE TO PERSONS RECEIVING THIS DOCUMENT AND/OR TECHNICAL INFORMATION
THIS DOCUMENT, INCLUDING THE DRAWING AND INFORMATION CONTAINED THEREON, IS CONFIDENTIAL 
AND IS THE EXCLUSIVE PROPERTY OF COOPER LIGHTING SOLUTIONS, AND IS MERELY ON LOAN AND 
SUBJECT TO RECALL BY COOPER LIGHTING SOLUTIONS AT ANY TIME. BY TAKING POSSESSION OF THIS 
DOCUMENT, THE RECIPIENT ACKNOWLEDGES AND AGREES THAT THIS DOCUMENT CANNOT BE USED IN 
ANY MANNER ADVERSE TO THE INTERESTS OF COOPER LIGHTING SOLUTIONS, AND THAT NO PORTION 
OF THIS DOCUMENT MAY BE COPIED OR OTHERWISE REPRODUCED WITHOUT THE PRIOR WRITTEN 
CONSENT OF COOPER LIGHTING SOLUTIONS. IN THE CASE OF CONFLICTING CONTRACTUAL 
PROVISIONS, THIS NOTICE SHALL GOVERN THE STATUS OF THIS DOCUMENT. MATERIAL MASTER

DIVING BOARD KIT

C EEL-UNX-0550-4 marketing 
views  **

1.93 LB 4

EE
L-

UN
X-

05
50

-4
 

ma
rke

tin
g v

iew
s

L MOD: E0420542 9/30/2020

DIMENSIONS THAT AFFECT 
SAFE HANDLING OR 
OPERATION

S

TOLERANCE GENERAL

404.94 IN2 53.40 IN3 3 OF

ANGLES ALL 1.0

C
oo

pe
r L

ig
ht

in
g 

 S
ol

ut
io

ns
 T

em
pl

at
e 

R
ev

 A

IP LEVEL:

DENOTES FIRST PIECE 
AND IN-PROCESS 
INSPECTION

10.00in
[254mm]

6.00in
[152.4mm]

ø.41in
[10.414mm]

4X
ø.81in
[20.574mm]

ø2.88in
[73.152mm]

(108.00°)

 4.38 

 4.00 

 2.13 

 10.00 

 6.00 

.41
4X .81 

 2.88 

 108.00° 

 4.38 

D

C

B

A

B

C

D

1 2 3 4 5 6 7 8

87654321

E

F

E

F

A THIRD ANGLE PROJECTION

MATERIAL:

METRIC (mm)

ENGLISH (IN).X
.XX
.XXX
X.
.X
.XX

DIMENSIONS ARE IN INCHES
DIMENSIONS IN [ ] ARE IN mm

ELECTRONIC CAD DRAWING.  DO 
NOT REVISE MANUALLY.

TITLE:

SIZE:DWG NO:REV:

SHEET VOL: WT: SCALE: SURFACE AREA: DO NOT SCALE DRAWING

FINISH:

APPR:

CHKD:

DRWN:

DATE APPROVALS
.040
.020
.010
1
0.5
0.25

x.x

x.x

DENOTES CRITICAL
DIMENSIONS AND
GAUGE CHECK POINTS

DENOTES FIRST 
PIECE 
INSPECTION ONLY

F P C

PRODUCT MUST CONFORM TO ROHS
COOPER LIGHTING SOLUTIONS - CONFIDENTIAL AND PROPRIETARY
NOTICE TO PERSONS RECEIVING THIS DOCUMENT AND/OR TECHNICAL INFORMATION
THIS DOCUMENT, INCLUDING THE DRAWING AND INFORMATION CONTAINED THEREON, IS CONFIDENTIAL 
AND IS THE EXCLUSIVE PROPERTY OF COOPER LIGHTING SOLUTIONS, AND IS MERELY ON LOAN AND 
SUBJECT TO RECALL BY COOPER LIGHTING SOLUTIONS AT ANY TIME. BY TAKING POSSESSION OF THIS 
DOCUMENT, THE RECIPIENT ACKNOWLEDGES AND AGREES THAT THIS DOCUMENT CANNOT BE USED IN 
ANY MANNER ADVERSE TO THE INTERESTS OF COOPER LIGHTING SOLUTIONS, AND THAT NO PORTION 
OF THIS DOCUMENT MAY BE COPIED OR OTHERWISE REPRODUCED WITHOUT THE PRIOR WRITTEN 
CONSENT OF COOPER LIGHTING SOLUTIONS. IN THE CASE OF CONFLICTING CONTRACTUAL 
PROVISIONS, THIS NOTICE SHALL GOVERN THE STATUS OF THIS DOCUMENT.MATERIAL MASTER

DIVING BOARD KIT

CEEL-UNX-0550-4 marketing 
views **

1.93 LB4

EE
L-
UN
X-
05
50
-4
 

ma
rke
tin
g v
iew
s

L MOD:E04205429/30/2020

DIMENSIONS THAT AFFECT 
SAFE HANDLING OR 
OPERATION

S

TOLERANCEGENERAL

404.94 IN253.40 IN33OF

ANGLESALL1.0

C
oo
pe
r L
ig
ht
in
g 
 S
ol
ut
io
ns
 T
em
pl
at
e 
R
ev
 A

IP LEVEL:

DENOTES FIRST PIECE 
AND IN-PROCESS 
INSPECTION

4.38in
[111.252mm] 4.38 

 4.00 

 2.13 

 10.00 

 6.00 

.41
4X  .81 

 2.88 

 108.00° 

 4.38 

D

C

B

A

B

C

D

12345678

8 7 6 5 4 3 2 1

E

F

E

F

ATHIRD ANGLE PROJECTION

MATERIAL:

METRIC (mm)

ENGLISH (IN) .X
.XX
.XXX
X.
.X
.XX

DIMENSIONS ARE IN INCHES
DIMENSIONS IN [ ] ARE IN mm

ELECTRONIC CAD DRAWING.  DO 
NOT REVISE MANUALLY.

TITLE:

SIZE: DWG NO: REV:

SHEETVOL:WT:SCALE:SURFACE AREA:DO NOT SCALE DRAWING

FINISH:

APPR:

CHKD:

DRWN:

DATEAPPROVALS
.040
.020
.010
1
0.5
0.25

x.x

x.x

DENOTES CRITICAL
DIMENSIONS AND
GAUGE CHECK POINTS

DENOTES FIRST 
PIECE 
INSPECTION ONLY

FPC

PRODUCT MUST CONFORM TO ROHS
COOPER LIGHTING SOLUTIONS - CONFIDENTIAL AND PROPRIETARY
NOTICE TO PERSONS RECEIVING THIS DOCUMENT AND/OR TECHNICAL INFORMATION
THIS DOCUMENT, INCLUDING THE DRAWING AND INFORMATION CONTAINED THEREON, IS CONFIDENTIAL 
AND IS THE EXCLUSIVE PROPERTY OF COOPER LIGHTING SOLUTIONS, AND IS MERELY ON LOAN AND 
SUBJECT TO RECALL BY COOPER LIGHTING SOLUTIONS AT ANY TIME. BY TAKING POSSESSION OF THIS 
DOCUMENT, THE RECIPIENT ACKNOWLEDGES AND AGREES THAT THIS DOCUMENT CANNOT BE USED IN 
ANY MANNER ADVERSE TO THE INTERESTS OF COOPER LIGHTING SOLUTIONS, AND THAT NO PORTION 
OF THIS DOCUMENT MAY BE COPIED OR OTHERWISE REPRODUCED WITHOUT THE PRIOR WRITTEN 
CONSENT OF COOPER LIGHTING SOLUTIONS. IN THE CASE OF CONFLICTING CONTRACTUAL 
PROVISIONS, THIS NOTICE SHALL GOVERN THE STATUS OF THIS DOCUMENT. MATERIAL MASTER

DIVING BOARD KIT

C EEL-UNX-0550-4 marketing 
views  **

1.93 LB 4

EE
L-

UN
X-

05
50

-4
 

ma
rke

tin
g v

iew
s

L MOD: E0420542 9/30/2020

DIMENSIONS THAT AFFECT 
SAFE HANDLING OR 
OPERATION

S

TOLERANCE GENERAL

404.94 IN2 53.40 IN3 3 OF

ANGLES ALL 1.0

C
oo

pe
r L

ig
ht

in
g 

 S
ol

ut
io

ns
 T

em
pl

at
e 

R
ev

 A

IP LEVEL:

DENOTES FIRST PIECE 
AND IN-PROCESS 
INSPECTION

4.38in
[111.252mm]

4.00in
[101.6mm]

2.13in
[54.102mm]

3

2X

4

2X

2

2X

1

1X

7

1X

5

2X

6

2X

D

NOTES :

ASSEMBLY ONLY USED FOR 2" HEIGHT X 4" WIDE RECTANGULAR TUBING1.
TABLE 1 LISTS PARTS FOR COMPLETE ASSEMBLY2.
TABLE 2 LISTS SEPERATE FIXTURE MOUNTING HARDWARE KIT3.
MOUNTING BOLT AND NUTS TO BE ASTM325 RATED4.
TORQUE HEX BOLT HAND TIGHT FOR SHIPMENT. TORQUE TO  120 FT*LBS DURING INSTALLATION5.

B

E

E

REVISIONS

ZONE REV. DESCRIPTION DATE APPROVED

A INITIAL RELEASE 1/10/2020 TM

C4, 2-
B1, 2-

B3
B

UPDATED HARDWARE BOM NAMES, ADDED 
CONFIGURABLE HARDWARE SHEET 2, UPDATED WELDED 

BRACKET EEL-UNX-0551.
4/27/2020 TM

2-A2, 2-
B3 C LENGTHENED ITEM 10 IN LS14-0405, ADDED ADDITIONAL 

3/4 HEX NUT 6/12/2020 TM

C4, 2-
C5,D5 D REMOVED JAM NUT. ADDED .75" MOUNTING SURFACE 

SKU, CHANGED HARDWARE TO CAPITAL BOLT NUMBERS 7/16/2020 TM

B4 E OPTIONAL SHIM ADDED 8/6/2020 TM

TABLE 1 : LS16-0406
ITEM NO. PART NUMBER DESCRIPTION QUANTITY

1 EEL-UNX-0551-4 WELDED BRACKET 1
2 EEL-AF-0555-4 BOLT SLEEVE 2

3 75C600BSTG/A325
3/4-10 x 6"  

STRUCTURAL HEX BOLT, 
HOT DIP GALV

2

4 75NWSTG 3/4 STEEL FLAT WASHER, 
HOT DIP GALV 2

5 75NLET(Z)"
3/4 EXT TOOTH 

WASHER, STEEL, MAGNI-
565 GREY POLYCOAT

2

6 75CN2HG
3/4-10 STRUCTURAL 

STEEL HEX NUT, HOT DIP 
GALV

2

7 EEL-UNX-0556 STAINLESS SHIM 1

D

C

B

A

B

C

D

12345678

8 7 6 5 4 3 2 1

E

F

E

F

ATHIRD ANGLE PROJECTION

MATERIAL:

METRIC (mm)

ENGLISH (IN) .X
.XX
.XXX
X.
.X
.XX

DIMENSIONS ARE IN INCHES
DIMENSIONS IN [ ] ARE IN mm

ELECTRONIC CAD DRAWING.  DO 
NOT REVISE MANUALLY.

TITLE:

SIZE: DWG NO: REV:

SHEETVOL:WT:SCALE:SURFACE AREA:DO NOT SCALE DRAWING

FINISH:

APPR:

CHKD:

DRWN:

DATEAPPROVALS
.040
.020
.010
1
0.5
0.25

x.x

x.x

DENOTES CRITICAL
DIMENSIONS AND
GAUGE CHECK POINTS

DENOTES FIRST 
PIECE 
INSPECTION ONLY

FPC

PRODUCT MUST CONFORM TO ROHS
COOPER LIGHTING SOLUTIONS - CONFIDENTIAL AND PROPRIETARY
NOTICE TO PERSONS RECEIVING THIS DOCUMENT AND/OR TECHNICAL INFORMATION
THIS DOCUMENT, INCLUDING THE DRAWING AND INFORMATION CONTAINED THEREON, IS CONFIDENTIAL 
AND IS THE EXCLUSIVE PROPERTY OF COOPER LIGHTING SOLUTIONS, AND IS MERELY ON LOAN AND 
SUBJECT TO RECALL BY COOPER LIGHTING SOLUTIONS AT ANY TIME. BY TAKING POSSESSION OF THIS 
DOCUMENT, THE RECIPIENT ACKNOWLEDGES AND AGREES THAT THIS DOCUMENT CANNOT BE USED IN 
ANY MANNER ADVERSE TO THE INTERESTS OF COOPER LIGHTING SOLUTIONS, AND THAT NO PORTION 
OF THIS DOCUMENT MAY BE COPIED OR OTHERWISE REPRODUCED WITHOUT THE PRIOR WRITTEN 
CONSENT OF COOPER LIGHTING SOLUTIONS. IN THE CASE OF CONFLICTING CONTRACTUAL 
PROVISIONS, THIS NOTICE SHALL GOVERN THE STATUS OF THIS DOCUMENT. MATERIAL MASTER

DIVING BOARD KIT

C EEL-UNX-0550-4 marketing 
views E

1.93 LB 4

TM

EE
L-

UN
X-

05
50

-4
 

ma
rke

tin
g v

iew
s

L MOD: E0420542 9/30/2020

DIMENSIONS THAT AFFECT 
SAFE HANDLING OR 
OPERATION

S

TOLERANCE GENERAL

404.94 IN2 53.40 IN3 1 OF

ANGLES ALL 1.0

C
oo

pe
r L

ig
ht

in
g 

 S
ol

ut
io

ns
 T

em
pl

at
e 

R
ev

 A

IP LEVEL:

DENOTES FIRST PIECE 
AND IN-PROCESS 
INSPECTION

RIGHT PROFILE

Diving Board (DVGBRD) Dimension and Part Details:

.375in 
[9.525mm]

Diving Board Parts  
DESCRIPTION QUANTITY
Welded Bracket 1

Bolt Sleeve 2

3/4in-10 X 6in Structural Hex Bolt, Hot Dip Galvanized 2

3/4in Steel Flat Washer, Hot DIp Galvanized 2

3/4in Ext Tooth Washer, Steel, Magni-565 Grey Polycoat 2

3/4in-10 Structural Steel Hex Nut, Hot Dip Galvanized 2

Stainless Shim 1

Diving Board Data  
MODEL # WEIGHT (LBS)
DVGBRD 15.1

DVGBRD + HRDM34-025 16.1



LUMASPORT 8 - Local

TD528018EN    page 10
March 26, 2025 12:59 PM

HRDM34 Dimension and Part Details:

HRDM34-025: 
.25-.50in clamping thickness, use for diving board (DVGBRD) or other flat surfaces  
drilled for 3/4in hardware

HRDM34-075: 
.50-.75in clamping thickness,  flat surfaces drilled for 3/4in hardware

HRDM34-200: 
2.00in clamping thickness, use for 2in x 4in Cross arms that are drilled for 3/4in hardware

HRDM34 Data  
MODEL # WEIGHT (LBS)
HRDM34-025 1

HRDM34-075 1.5

HRDM34-200 2

HRDM58 Dimension and Part Details:
HRDM58-050: 
.375-.500in clamping thickness, Use for Extension Plate (EXTPLT) or other flat surfaces  
drilled for 5/8in hardware

HRDM58-200:  
2.00in clamping thickness, use for 2in x 4in Cross arms that are drilled for 5/8in hardware

HRDM58 Data  
MODEL # WEIGHT (LBS)
HRDM58-050 .65

HRDM58-200 .84

LUMASPORT 8

TD528018EN    page 11
February 15, 2021 9:27 PM

HRDM34 Dimension and Part Details:

 CLAMPING THICKNESS 

NOTES :

HARDWARE SKU DEPENDANT ON DESIRED CLAMPING THICKNESS1.
FIXTURE ASSUMED TO BE .75" THICK2.
REFER TO TABLE 1 FOR CLAMPING THICKNESS AND CATLOGIC3.
REFER TO TABLE 2 FOR BILL OF MATERIAL4.

TABLE 2:

REVISIONS

ZONE REV. DESCRIPTION DATE APPROVED

1 INITIAL QUOTATION 10/28/2020 TM

ITEM 
NO.

PART NUMBER: 
HRDM34-025

PART NUMBER: 
HRDM34-75

PART NUMBER: 
HRDM34-200 DESCRIPTION QTY.

1 75C250BSTG/A325N1
: 2" LENGTH

75C275BSTG/A325N1
: 2.75" LENGTH

75C400BSTG/A325N1
: 4.00" LENGTH 3/4" A325 BOLT, HDG 1

2 75NWSTG 75NWSTG 75NWSTG 3/4"  A325 WASHER, HDG 2

3 75NLET(Z)" 75NLET(Z)" 75NLET(Z)" 3/4" STEEL EXT TOOTH LOCK WASHER, 
MAGNI-565 GREY POLYCOAT 1

4  75CN2HG  75CN2HG  75CN2HG 3/4" A325 HEX NUT, HDG 1

5 37C200HCSS":     
2.00" LENGTH

37C200HCSS":     
2.00" LENGTH

37C400HCSS":     
4.00" LENGTH

3/8 HEX BOLT, SS 595 MAGNI POLY 
COAT 1

6 37NWUSS" 37NWUSS" 37NWUSS" 3/8" WASHER, SS 595 MAGNI POLY 
COAT 2

7 37NLET4" 37NLET4" 37NLET4" 3/8" EXT TOOTH WASHER, SS,MAGNI-
565 GREY POLY COAT 1

8 37CNFHS" 37CNFHS" 37CNFHS" 3/8" HEX NUT, SS 595 MAGNI POLY 
COAT 1

TABLE 1

CLAMPING 
THICKNESS SKU
.25" - .500" -025
.50"-.75" -075

2.00" -0200
D

C

B

A

B

C

D

12345678

8 7 6 5 4 3 2 1

E

F

E

F

ATHIRD ANGLE PROJECTION

MATERIAL:

METRIC (mm)

ENGLISH (IN) .X
.XX
.XXX
X.
.X
.XX

DIMENSIONS ARE IN INCHES
DIMENSIONS IN [ ] ARE IN mm

ELECTRONIC CAD DRAWING.  DO 
NOT REVISE MANUALLY.

TITLE:

SIZE: DWG NO: REV:

SHEETVOL:WT:SCALE:SURFACE AREA:DO NOT SCALE DRAWING

FINISH:

APPR:

CHKD:

DRWN:

DATEAPPROVALS
.040
.020
.010
1
0.5
0.25

x.x

x.x

DENOTES CRITICAL
DIMENSIONS AND
GAUGE CHECK POINTS

DENOTES FIRST 
PIECE 
INSPECTION ONLY

FPC

PRODUCT MUST CONFORM TO ROHS
COOPER LIGHTING SOLUTIONS - CONFIDENTIAL AND PROPRIETARY
NOTICE TO PERSONS RECEIVING THIS DOCUMENT AND/OR TECHNICAL INFORMATION
THIS DOCUMENT, INCLUDING THE DRAWING AND INFORMATION CONTAINED THEREON, IS CONFIDENTIAL 
AND IS THE EXCLUSIVE PROPERTY OF COOPER LIGHTING SOLUTIONS, AND IS MERELY ON LOAN AND 
SUBJECT TO RECALL BY COOPER LIGHTING SOLUTIONS AT ANY TIME. BY TAKING POSSESSION OF THIS 
DOCUMENT, THE RECIPIENT ACKNOWLEDGES AND AGREES THAT THIS DOCUMENT CANNOT BE USED IN 
ANY MANNER ADVERSE TO THE INTERESTS OF COOPER LIGHTING SOLUTIONS, AND THAT NO PORTION 
OF THIS DOCUMENT MAY BE COPIED OR OTHERWISE REPRODUCED WITHOUT THE PRIOR WRITTEN 
CONSENT OF COOPER LIGHTING SOLUTIONS. IN THE CASE OF CONFLICTING CONTRACTUAL 
PROVISIONS, THIS NOTICE SHALL GOVERN THE STATUS OF THIS DOCUMENT. MATERIAL MASTER

3/4" HARDWARE KIT

C HRDM34  1

0.11 LB 1

HR
DM

34

L MOD: E0420542 10/28/2020

DIMENSIONS THAT AFFECT 
SAFE HANDLING OR 
OPERATION

S

TOLERANCE GENERAL

35.28 IN2 2.91 IN3 1 OF

 
 
 
 
 
 
 
 
 

ANGLES ALL 1.0

Co
op

er
 L

ig
ht

in
g 

 S
ol

ut
io

ns
 T

em
pl

at
e 

Re
v 

A

IP LEVEL:

DENOTES FIRST PIECE 
AND IN-PROCESS 
INSPECTION

 CLAMPING THICKNESS 

NOTES :

HARDWARE SKU DEPENDANT ON DESIRED CLAMPING THICKNESS1.
FIXTURE ASSUMED TO BE .75" THICK2.
REFER TO TABLE 1 FOR CLAMPING THICKNESS AND CATLOGIC3.
REFER TO TABLE 2 FOR BILL OF MATERIAL4.

TABLE 2:

REVISIONS

ZONE REV. DESCRIPTION DATE APPROVED

1 INITIAL QUOTATION 10/28/2020 TM

ITEM 
NO.

PART NUMBER: 
HRDM34-025

PART NUMBER: 
HRDM34-75

PART NUMBER: 
HRDM34-200 DESCRIPTION QTY.

1 75C250BSTG/A325N1
: 2" LENGTH

75C275BSTG/A325N1
: 2.75" LENGTH

75C400BSTG/A325N1
: 4.00" LENGTH 3/4" A325 BOLT, HDG 1

2 75NWSTG 75NWSTG 75NWSTG 3/4"  A325 WASHER, HDG 2

3 75NLET(Z)" 75NLET(Z)" 75NLET(Z)" 3/4" STEEL EXT TOOTH LOCK WASHER, 
MAGNI-565 GREY POLYCOAT 1

4  75CN2HG  75CN2HG  75CN2HG 3/4" A325 HEX NUT, HDG 1

5 37C200HCSS":     
2.00" LENGTH

37C200HCSS":     
2.00" LENGTH

37C400HCSS":     
4.00" LENGTH

3/8 HEX BOLT, SS 595 MAGNI POLY 
COAT 1

6 37NWUSS" 37NWUSS" 37NWUSS" 3/8" WASHER, SS 595 MAGNI POLY 
COAT 2

7 37NLET4" 37NLET4" 37NLET4" 3/8" EXT TOOTH WASHER, SS,MAGNI-
565 GREY POLY COAT 1

8 37CNFHS" 37CNFHS" 37CNFHS" 3/8" HEX NUT, SS 595 MAGNI POLY 
COAT 1

TABLE 1

CLAMPING 
THICKNESS SKU
.25" - .500" -025
.50"-.75" -075

2.00" -0200
D

C

B

A

B

C

D

12345678

8 7 6 5 4 3 2 1

E

F

E

F

ATHIRD ANGLE PROJECTION

MATERIAL:

METRIC (mm)

ENGLISH (IN) .X
.XX
.XXX
X.
.X
.XX

DIMENSIONS ARE IN INCHES
DIMENSIONS IN [ ] ARE IN mm

ELECTRONIC CAD DRAWING.  DO 
NOT REVISE MANUALLY.

TITLE:

SIZE: DWG NO: REV:

SHEETVOL:WT:SCALE:SURFACE AREA:DO NOT SCALE DRAWING

FINISH:

APPR:

CHKD:

DRWN:

DATEAPPROVALS
.040
.020
.010
1
0.5
0.25

x.x

x.x

DENOTES CRITICAL
DIMENSIONS AND
GAUGE CHECK POINTS

DENOTES FIRST 
PIECE 
INSPECTION ONLY

FPC

PRODUCT MUST CONFORM TO ROHS
COOPER LIGHTING SOLUTIONS - CONFIDENTIAL AND PROPRIETARY
NOTICE TO PERSONS RECEIVING THIS DOCUMENT AND/OR TECHNICAL INFORMATION
THIS DOCUMENT, INCLUDING THE DRAWING AND INFORMATION CONTAINED THEREON, IS CONFIDENTIAL 
AND IS THE EXCLUSIVE PROPERTY OF COOPER LIGHTING SOLUTIONS, AND IS MERELY ON LOAN AND 
SUBJECT TO RECALL BY COOPER LIGHTING SOLUTIONS AT ANY TIME. BY TAKING POSSESSION OF THIS 
DOCUMENT, THE RECIPIENT ACKNOWLEDGES AND AGREES THAT THIS DOCUMENT CANNOT BE USED IN 
ANY MANNER ADVERSE TO THE INTERESTS OF COOPER LIGHTING SOLUTIONS, AND THAT NO PORTION 
OF THIS DOCUMENT MAY BE COPIED OR OTHERWISE REPRODUCED WITHOUT THE PRIOR WRITTEN 
CONSENT OF COOPER LIGHTING SOLUTIONS. IN THE CASE OF CONFLICTING CONTRACTUAL 
PROVISIONS, THIS NOTICE SHALL GOVERN THE STATUS OF THIS DOCUMENT. MATERIAL MASTER

3/4" HARDWARE KIT

C HRDM34  1

0.11 LB 1

HR
DM

34

L MOD: E0420542 10/28/2020

DIMENSIONS THAT AFFECT 
SAFE HANDLING OR 
OPERATION

S

TOLERANCE GENERAL

35.28 IN2 2.91 IN3 1 OF

 
 
 
 
 
 
 
 
 

ANGLES ALL 1.0

Co
op

er
 L

ig
ht

in
g 

 S
ol

ut
io

ns
 T

em
pl

at
e 

Re
v 

A

IP LEVEL:

DENOTES FIRST PIECE 
AND IN-PROCESS 
INSPECTION

HRDM34-025: 
.25-.50in clamping thickness, use for diving board (DVGBRD) or other flat surfaces  
drilled for 3/4in hardware

HRDM34-075: 
.50-.75in clamping thickness,  flat surfaces drilled for 3/4in hardware

HRDM34-200: 
2.00in clamping thickness, use for 2in x 4in Cross arms that are drilled for 3/4in hardware

HRDM34 Data  
MODEL # WEIGHT (LBS)
HRDM34-025 1

HRDM34-075 1.5

HRDM34-200 2

HRDM58 Dimension and Part Details:
HRDM58-050: 
.375-.500in clamping thickness, Use for Extension Plate (EXTPLT) or other flat surfaces  
drilled for 5/8in hardware

HRDM58-200:  
2.00in clamping thickness, use for 2in x 4in Cross arms that are drilled for 5/8in hardware

 CLAMPING THICKNESS 

NOTES :

HARDWARE SKU DEPENDANT ON DESIRED CLAMPING THICKNESS1.
FIXTURE ASSUMED TO BE .75" THICK2.
REFER TO TABLE 1 FOR CLAMPING THICKNESS AND CATLOGIC3.
REFER TO TABLE 2 FOR BILL OF MATERIAL4.

TABLE 2:

REVISIONS

ZONE REV. DESCRIPTION DATE APPROVED

1 INITIAL QUOTATION 10/5/2020 TM

ITEM 
NO.

PART NUMBER: 
HRDM58-050

PART NUMBER: 
HRDM58-200 DESCRIPTION 200/QTY.

1  91583A142 91583A151 5/8" A325 BOLT, HDG 1

2 98119A035 98119A035 5/8"  A325 WASHER, HDG 2

3 95160A240 95160A240 5/8" SPLIT LOCK WASHER, HDG 1

4 91694A320 91694A320 5/8" A325 HEX NUT, HDG 1

5  93190A632 93190A640 3/8" HEX BOLT, SS 595 MAGNI POLY 
COAT 1

6 90107A127 90107A127 3/8" WASHER, SS 595 MAGNI POLY 
COAT 2

7 92147A031 92147A031 3/8" SPLIT LOCK WASHER, SS 595 
MAGNI POLY COAT 1

8 91845A031 91845A031 3/8" HEX NUT, SS 595 MAGNI POLY 
COAT 1

TABLE 1

CLAMPING 
THICKNESS SKU
.375" - .500" -050

2.00 -0200
D

C

B

A

B

C

D

12345678

8 7 6 5 4 3 2 1

E

F

E

F

ATHIRD ANGLE PROJECTION

MATERIAL:

METRIC (mm)

ENGLISH (IN) .X
.XX
.XXX
X.
.X
.XX

DIMENSIONS ARE IN INCHES
DIMENSIONS IN [ ] ARE IN mm

ELECTRONIC CAD DRAWING.  DO 
NOT REVISE MANUALLY.

TITLE:

SIZE: DWG NO: REV:

SHEETVOL:WT:SCALE:SURFACE AREA:DO NOT SCALE DRAWING

FINISH:

APPR:

CHKD:

DRWN:

DATEAPPROVALS
.040
.020
.010
1
0.5
0.25

x.x

x.x

DENOTES CRITICAL
DIMENSIONS AND
GAUGE CHECK POINTS

DENOTES FIRST 
PIECE 
INSPECTION ONLY

FPC

PRODUCT MUST CONFORM TO ROHS
COOPER LIGHTING SOLUTIONS - CONFIDENTIAL AND PROPRIETARY
NOTICE TO PERSONS RECEIVING THIS DOCUMENT AND/OR TECHNICAL INFORMATION
THIS DOCUMENT, INCLUDING THE DRAWING AND INFORMATION CONTAINED THEREON, IS CONFIDENTIAL 
AND IS THE EXCLUSIVE PROPERTY OF COOPER LIGHTING SOLUTIONS, AND IS MERELY ON LOAN AND 
SUBJECT TO RECALL BY COOPER LIGHTING SOLUTIONS AT ANY TIME. BY TAKING POSSESSION OF THIS 
DOCUMENT, THE RECIPIENT ACKNOWLEDGES AND AGREES THAT THIS DOCUMENT CANNOT BE USED IN 
ANY MANNER ADVERSE TO THE INTERESTS OF COOPER LIGHTING SOLUTIONS, AND THAT NO PORTION 
OF THIS DOCUMENT MAY BE COPIED OR OTHERWISE REPRODUCED WITHOUT THE PRIOR WRITTEN 
CONSENT OF COOPER LIGHTING SOLUTIONS. IN THE CASE OF CONFLICTING CONTRACTUAL 
PROVISIONS, THIS NOTICE SHALL GOVERN THE STATUS OF THIS DOCUMENT. MATERIAL MASTER

5/8" HARDWARE KIT

C HRDM58  1

0.11 LB 1

HR
DM

58

L MOD: E0420542 10/6/2020

DIMENSIONS THAT AFFECT 
SAFE HANDLING OR 
OPERATION

S

TOLERANCE GENERAL

38.35 IN2 2.94 IN3 1 OF

 
 
 
 
 
 
 
 
 

ANGLES ALL 1.0

Co
op

er
 L

ig
ht

in
g 

 S
ol

ut
io

ns
 T

em
pl

at
e 

Re
v 

A

IP LEVEL:

DENOTES FIRST PIECE 
AND IN-PROCESS 
INSPECTION

 CLAMPING THICKNESS 

NOTES :

HARDWARE SKU DEPENDANT ON DESIRED CLAMPING THICKNESS1.
FIXTURE ASSUMED TO BE .75" THICK2.
REFER TO TABLE 1 FOR CLAMPING THICKNESS AND CATLOGIC3.
REFER TO TABLE 2 FOR BILL OF MATERIAL4.

TABLE 2:

REVISIONS

ZONE REV. DESCRIPTION DATE APPROVED

1 INITIAL QUOTATION 10/5/2020 TM

ITEM 
NO.

PART NUMBER: 
HRDM58-050

PART NUMBER: 
HRDM58-200 DESCRIPTION 200/QTY.

1  91583A142 91583A151 5/8" A325 BOLT, HDG 1

2 98119A035 98119A035 5/8"  A325 WASHER, HDG 2

3 95160A240 95160A240 5/8" SPLIT LOCK WASHER, HDG 1

4 91694A320 91694A320 5/8" A325 HEX NUT, HDG 1

5  93190A632 93190A640 3/8" HEX BOLT, SS 595 MAGNI POLY 
COAT 1

6 90107A127 90107A127 3/8" WASHER, SS 595 MAGNI POLY 
COAT 2

7 92147A031 92147A031 3/8" SPLIT LOCK WASHER, SS 595 
MAGNI POLY COAT 1

8 91845A031 91845A031 3/8" HEX NUT, SS 595 MAGNI POLY 
COAT 1

TABLE 1

CLAMPING 
THICKNESS SKU
.375" - .500" -050

2.00 -0200
D

C

B

A

B

C

D

12345678

8 7 6 5 4 3 2 1

E

F

E

F

ATHIRD ANGLE PROJECTION

MATERIAL:

METRIC (mm)

ENGLISH (IN) .X
.XX
.XXX
X.
.X
.XX

DIMENSIONS ARE IN INCHES
DIMENSIONS IN [ ] ARE IN mm

ELECTRONIC CAD DRAWING.  DO 
NOT REVISE MANUALLY.

TITLE:

SIZE: DWG NO: REV:

SHEETVOL:WT:SCALE:SURFACE AREA:DO NOT SCALE DRAWING

FINISH:

APPR:

CHKD:

DRWN:

DATEAPPROVALS
.040
.020
.010
1
0.5
0.25

x.x

x.x

DENOTES CRITICAL
DIMENSIONS AND
GAUGE CHECK POINTS

DENOTES FIRST 
PIECE 
INSPECTION ONLY

FPC

PRODUCT MUST CONFORM TO ROHS
COOPER LIGHTING SOLUTIONS - CONFIDENTIAL AND PROPRIETARY
NOTICE TO PERSONS RECEIVING THIS DOCUMENT AND/OR TECHNICAL INFORMATION
THIS DOCUMENT, INCLUDING THE DRAWING AND INFORMATION CONTAINED THEREON, IS CONFIDENTIAL 
AND IS THE EXCLUSIVE PROPERTY OF COOPER LIGHTING SOLUTIONS, AND IS MERELY ON LOAN AND 
SUBJECT TO RECALL BY COOPER LIGHTING SOLUTIONS AT ANY TIME. BY TAKING POSSESSION OF THIS 
DOCUMENT, THE RECIPIENT ACKNOWLEDGES AND AGREES THAT THIS DOCUMENT CANNOT BE USED IN 
ANY MANNER ADVERSE TO THE INTERESTS OF COOPER LIGHTING SOLUTIONS, AND THAT NO PORTION 
OF THIS DOCUMENT MAY BE COPIED OR OTHERWISE REPRODUCED WITHOUT THE PRIOR WRITTEN 
CONSENT OF COOPER LIGHTING SOLUTIONS. IN THE CASE OF CONFLICTING CONTRACTUAL 
PROVISIONS, THIS NOTICE SHALL GOVERN THE STATUS OF THIS DOCUMENT. MATERIAL MASTER

5/8" HARDWARE KIT

C HRDM58  1

0.11 LB 1

HR
DM

58

L MOD: E0420542 10/6/2020

DIMENSIONS THAT AFFECT 
SAFE HANDLING OR 
OPERATION

S

TOLERANCE GENERAL

38.35 IN2 2.94 IN3 1 OF

 
 
 
 
 
 
 
 
 

ANGLES ALL 1.0

Co
op

er
 L

ig
ht

in
g 

 S
ol

ut
io

ns
 T

em
pl

at
e 

Re
v 

A

IP LEVEL:

DENOTES FIRST PIECE 
AND IN-PROCESS 
INSPECTION

HRDM58 Data  
MODEL # WEIGHT (LBS)
HRDM58-050 .65

HRDM58-200 .84

LUMASPORT 8

TD528018EN    page 11
February 15, 2021 9:27 PM

HRDM34 Dimension and Part Details:

 CLAMPING THICKNESS 

NOTES :

HARDWARE SKU DEPENDANT ON DESIRED CLAMPING THICKNESS1.
FIXTURE ASSUMED TO BE .75" THICK2.
REFER TO TABLE 1 FOR CLAMPING THICKNESS AND CATLOGIC3.
REFER TO TABLE 2 FOR BILL OF MATERIAL4.

TABLE 2:

REVISIONS

ZONE REV. DESCRIPTION DATE APPROVED

1 INITIAL QUOTATION 10/28/2020 TM

ITEM 
NO.

PART NUMBER: 
HRDM34-025

PART NUMBER: 
HRDM34-75

PART NUMBER: 
HRDM34-200 DESCRIPTION QTY.

1 75C250BSTG/A325N1
: 2" LENGTH

75C275BSTG/A325N1
: 2.75" LENGTH

75C400BSTG/A325N1
: 4.00" LENGTH 3/4" A325 BOLT, HDG 1

2 75NWSTG 75NWSTG 75NWSTG 3/4"  A325 WASHER, HDG 2

3 75NLET(Z)" 75NLET(Z)" 75NLET(Z)" 3/4" STEEL EXT TOOTH LOCK WASHER, 
MAGNI-565 GREY POLYCOAT 1

4  75CN2HG  75CN2HG  75CN2HG 3/4" A325 HEX NUT, HDG 1

5 37C200HCSS":     
2.00" LENGTH

37C200HCSS":     
2.00" LENGTH

37C400HCSS":     
4.00" LENGTH

3/8 HEX BOLT, SS 595 MAGNI POLY 
COAT 1

6 37NWUSS" 37NWUSS" 37NWUSS" 3/8" WASHER, SS 595 MAGNI POLY 
COAT 2

7 37NLET4" 37NLET4" 37NLET4" 3/8" EXT TOOTH WASHER, SS,MAGNI-
565 GREY POLY COAT 1

8 37CNFHS" 37CNFHS" 37CNFHS" 3/8" HEX NUT, SS 595 MAGNI POLY 
COAT 1

TABLE 1

CLAMPING 
THICKNESS SKU
.25" - .500" -025
.50"-.75" -075

2.00" -0200
D

C

B

A

B

C

D

12345678

8 7 6 5 4 3 2 1

E

F

E

F

ATHIRD ANGLE PROJECTION

MATERIAL:

METRIC (mm)

ENGLISH (IN) .X
.XX
.XXX
X.
.X
.XX

DIMENSIONS ARE IN INCHES
DIMENSIONS IN [ ] ARE IN mm

ELECTRONIC CAD DRAWING.  DO 
NOT REVISE MANUALLY.

TITLE:

SIZE: DWG NO: REV:

SHEETVOL:WT:SCALE:SURFACE AREA:DO NOT SCALE DRAWING

FINISH:

APPR:

CHKD:

DRWN:

DATEAPPROVALS
.040
.020
.010
1
0.5
0.25

x.x

x.x

DENOTES CRITICAL
DIMENSIONS AND
GAUGE CHECK POINTS

DENOTES FIRST 
PIECE 
INSPECTION ONLY

FPC

PRODUCT MUST CONFORM TO ROHS
COOPER LIGHTING SOLUTIONS - CONFIDENTIAL AND PROPRIETARY
NOTICE TO PERSONS RECEIVING THIS DOCUMENT AND/OR TECHNICAL INFORMATION
THIS DOCUMENT, INCLUDING THE DRAWING AND INFORMATION CONTAINED THEREON, IS CONFIDENTIAL 
AND IS THE EXCLUSIVE PROPERTY OF COOPER LIGHTING SOLUTIONS, AND IS MERELY ON LOAN AND 
SUBJECT TO RECALL BY COOPER LIGHTING SOLUTIONS AT ANY TIME. BY TAKING POSSESSION OF THIS 
DOCUMENT, THE RECIPIENT ACKNOWLEDGES AND AGREES THAT THIS DOCUMENT CANNOT BE USED IN 
ANY MANNER ADVERSE TO THE INTERESTS OF COOPER LIGHTING SOLUTIONS, AND THAT NO PORTION 
OF THIS DOCUMENT MAY BE COPIED OR OTHERWISE REPRODUCED WITHOUT THE PRIOR WRITTEN 
CONSENT OF COOPER LIGHTING SOLUTIONS. IN THE CASE OF CONFLICTING CONTRACTUAL 
PROVISIONS, THIS NOTICE SHALL GOVERN THE STATUS OF THIS DOCUMENT. MATERIAL MASTER

3/4" HARDWARE KIT

C HRDM34  1

0.11 LB 1

HR
DM

34

L MOD: E0420542 10/28/2020

DIMENSIONS THAT AFFECT 
SAFE HANDLING OR 
OPERATION

S

TOLERANCE GENERAL

35.28 IN2 2.91 IN3 1 OF

 
 
 
 
 
 
 
 
 

ANGLES ALL 1.0

Co
op

er
 L

ig
ht

in
g 

 S
ol

ut
io

ns
 T

em
pl

at
e 

Re
v 

A

IP LEVEL:

DENOTES FIRST PIECE 
AND IN-PROCESS 
INSPECTION

 CLAMPING THICKNESS 

NOTES :

HARDWARE SKU DEPENDANT ON DESIRED CLAMPING THICKNESS1.
FIXTURE ASSUMED TO BE .75" THICK2.
REFER TO TABLE 1 FOR CLAMPING THICKNESS AND CATLOGIC3.
REFER TO TABLE 2 FOR BILL OF MATERIAL4.

TABLE 2:

REVISIONS

ZONE REV. DESCRIPTION DATE APPROVED

1 INITIAL QUOTATION 10/28/2020 TM

ITEM 
NO.

PART NUMBER: 
HRDM34-025

PART NUMBER: 
HRDM34-75

PART NUMBER: 
HRDM34-200 DESCRIPTION QTY.

1 75C250BSTG/A325N1
: 2" LENGTH

75C275BSTG/A325N1
: 2.75" LENGTH

75C400BSTG/A325N1
: 4.00" LENGTH 3/4" A325 BOLT, HDG 1

2 75NWSTG 75NWSTG 75NWSTG 3/4"  A325 WASHER, HDG 2

3 75NLET(Z)" 75NLET(Z)" 75NLET(Z)" 3/4" STEEL EXT TOOTH LOCK WASHER, 
MAGNI-565 GREY POLYCOAT 1

4  75CN2HG  75CN2HG  75CN2HG 3/4" A325 HEX NUT, HDG 1

5 37C200HCSS":     
2.00" LENGTH

37C200HCSS":     
2.00" LENGTH

37C400HCSS":     
4.00" LENGTH

3/8 HEX BOLT, SS 595 MAGNI POLY 
COAT 1

6 37NWUSS" 37NWUSS" 37NWUSS" 3/8" WASHER, SS 595 MAGNI POLY 
COAT 2

7 37NLET4" 37NLET4" 37NLET4" 3/8" EXT TOOTH WASHER, SS,MAGNI-
565 GREY POLY COAT 1

8 37CNFHS" 37CNFHS" 37CNFHS" 3/8" HEX NUT, SS 595 MAGNI POLY 
COAT 1

TABLE 1

CLAMPING 
THICKNESS SKU
.25" - .500" -025
.50"-.75" -075

2.00" -0200
D

C

B

A

B

C

D

12345678

8 7 6 5 4 3 2 1

E

F

E

F

ATHIRD ANGLE PROJECTION

MATERIAL:

METRIC (mm)

ENGLISH (IN) .X
.XX
.XXX
X.
.X
.XX

DIMENSIONS ARE IN INCHES
DIMENSIONS IN [ ] ARE IN mm

ELECTRONIC CAD DRAWING.  DO 
NOT REVISE MANUALLY.

TITLE:

SIZE: DWG NO: REV:

SHEETVOL:WT:SCALE:SURFACE AREA:DO NOT SCALE DRAWING

FINISH:

APPR:

CHKD:

DRWN:

DATEAPPROVALS
.040
.020
.010
1
0.5
0.25

x.x

x.x

DENOTES CRITICAL
DIMENSIONS AND
GAUGE CHECK POINTS

DENOTES FIRST 
PIECE 
INSPECTION ONLY

FPC

PRODUCT MUST CONFORM TO ROHS
COOPER LIGHTING SOLUTIONS - CONFIDENTIAL AND PROPRIETARY
NOTICE TO PERSONS RECEIVING THIS DOCUMENT AND/OR TECHNICAL INFORMATION
THIS DOCUMENT, INCLUDING THE DRAWING AND INFORMATION CONTAINED THEREON, IS CONFIDENTIAL 
AND IS THE EXCLUSIVE PROPERTY OF COOPER LIGHTING SOLUTIONS, AND IS MERELY ON LOAN AND 
SUBJECT TO RECALL BY COOPER LIGHTING SOLUTIONS AT ANY TIME. BY TAKING POSSESSION OF THIS 
DOCUMENT, THE RECIPIENT ACKNOWLEDGES AND AGREES THAT THIS DOCUMENT CANNOT BE USED IN 
ANY MANNER ADVERSE TO THE INTERESTS OF COOPER LIGHTING SOLUTIONS, AND THAT NO PORTION 
OF THIS DOCUMENT MAY BE COPIED OR OTHERWISE REPRODUCED WITHOUT THE PRIOR WRITTEN 
CONSENT OF COOPER LIGHTING SOLUTIONS. IN THE CASE OF CONFLICTING CONTRACTUAL 
PROVISIONS, THIS NOTICE SHALL GOVERN THE STATUS OF THIS DOCUMENT. MATERIAL MASTER

3/4" HARDWARE KIT

C HRDM34  1

0.11 LB 1

HR
DM

34

L MOD: E0420542 10/28/2020

DIMENSIONS THAT AFFECT 
SAFE HANDLING OR 
OPERATION

S

TOLERANCE GENERAL

35.28 IN2 2.91 IN3 1 OF

 
 
 
 
 
 
 
 
 

ANGLES ALL 1.0

Co
op

er
 L

ig
ht

in
g 

 S
ol

ut
io

ns
 T

em
pl

at
e 

Re
v 

A

IP LEVEL:

DENOTES FIRST PIECE 
AND IN-PROCESS 
INSPECTION

HRDM34-025: 
.25-.50in clamping thickness, use for diving board (DVGBRD) or other flat surfaces  
drilled for 3/4in hardware

HRDM34-075: 
.50-.75in clamping thickness,  flat surfaces drilled for 3/4in hardware

HRDM34-200: 
2.00in clamping thickness, use for 2in x 4in Cross arms that are drilled for 3/4in hardware

HRDM34 Data  
MODEL # WEIGHT (LBS)
HRDM34-025 1

HRDM34-075 1.5

HRDM34-200 2

HRDM58 Dimension and Part Details:
HRDM58-050: 
.375-.500in clamping thickness, Use for Extension Plate (EXTPLT) or other flat surfaces  
drilled for 5/8in hardware

HRDM58-200:  
2.00in clamping thickness, use for 2in x 4in Cross arms that are drilled for 5/8in hardware

 CLAMPING THICKNESS 

NOTES :

HARDWARE SKU DEPENDANT ON DESIRED CLAMPING THICKNESS1.
FIXTURE ASSUMED TO BE .75" THICK2.
REFER TO TABLE 1 FOR CLAMPING THICKNESS AND CATLOGIC3.
REFER TO TABLE 2 FOR BILL OF MATERIAL4.

TABLE 2:

REVISIONS

ZONE REV. DESCRIPTION DATE APPROVED

1 INITIAL QUOTATION 10/5/2020 TM

ITEM 
NO.

PART NUMBER: 
HRDM58-050

PART NUMBER: 
HRDM58-200 DESCRIPTION 200/QTY.

1  91583A142 91583A151 5/8" A325 BOLT, HDG 1

2 98119A035 98119A035 5/8"  A325 WASHER, HDG 2

3 95160A240 95160A240 5/8" SPLIT LOCK WASHER, HDG 1

4 91694A320 91694A320 5/8" A325 HEX NUT, HDG 1

5  93190A632 93190A640 3/8" HEX BOLT, SS 595 MAGNI POLY 
COAT 1

6 90107A127 90107A127 3/8" WASHER, SS 595 MAGNI POLY 
COAT 2

7 92147A031 92147A031 3/8" SPLIT LOCK WASHER, SS 595 
MAGNI POLY COAT 1

8 91845A031 91845A031 3/8" HEX NUT, SS 595 MAGNI POLY 
COAT 1

TABLE 1

CLAMPING 
THICKNESS SKU
.375" - .500" -050

2.00 -0200
D

C

B

A

B

C

D

12345678

8 7 6 5 4 3 2 1

E

F

E

F

ATHIRD ANGLE PROJECTION

MATERIAL:

METRIC (mm)

ENGLISH (IN) .X
.XX
.XXX
X.
.X
.XX

DIMENSIONS ARE IN INCHES
DIMENSIONS IN [ ] ARE IN mm

ELECTRONIC CAD DRAWING.  DO 
NOT REVISE MANUALLY.

TITLE:

SIZE: DWG NO: REV:

SHEETVOL:WT:SCALE:SURFACE AREA:DO NOT SCALE DRAWING

FINISH:

APPR:

CHKD:

DRWN:

DATEAPPROVALS
.040
.020
.010
1
0.5
0.25

x.x

x.x

DENOTES CRITICAL
DIMENSIONS AND
GAUGE CHECK POINTS

DENOTES FIRST 
PIECE 
INSPECTION ONLY

FPC

PRODUCT MUST CONFORM TO ROHS
COOPER LIGHTING SOLUTIONS - CONFIDENTIAL AND PROPRIETARY
NOTICE TO PERSONS RECEIVING THIS DOCUMENT AND/OR TECHNICAL INFORMATION
THIS DOCUMENT, INCLUDING THE DRAWING AND INFORMATION CONTAINED THEREON, IS CONFIDENTIAL 
AND IS THE EXCLUSIVE PROPERTY OF COOPER LIGHTING SOLUTIONS, AND IS MERELY ON LOAN AND 
SUBJECT TO RECALL BY COOPER LIGHTING SOLUTIONS AT ANY TIME. BY TAKING POSSESSION OF THIS 
DOCUMENT, THE RECIPIENT ACKNOWLEDGES AND AGREES THAT THIS DOCUMENT CANNOT BE USED IN 
ANY MANNER ADVERSE TO THE INTERESTS OF COOPER LIGHTING SOLUTIONS, AND THAT NO PORTION 
OF THIS DOCUMENT MAY BE COPIED OR OTHERWISE REPRODUCED WITHOUT THE PRIOR WRITTEN 
CONSENT OF COOPER LIGHTING SOLUTIONS. IN THE CASE OF CONFLICTING CONTRACTUAL 
PROVISIONS, THIS NOTICE SHALL GOVERN THE STATUS OF THIS DOCUMENT. MATERIAL MASTER

5/8" HARDWARE KIT

C HRDM58  1

0.11 LB 1

HR
DM

58

L MOD: E0420542 10/6/2020

DIMENSIONS THAT AFFECT 
SAFE HANDLING OR 
OPERATION

S

TOLERANCE GENERAL

38.35 IN2 2.94 IN3 1 OF

 
 
 
 
 
 
 
 
 

ANGLES ALL 1.0

Co
op

er
 L

ig
ht

in
g 

 S
ol

ut
io

ns
 T

em
pl

at
e 

Re
v 

A

IP LEVEL:

DENOTES FIRST PIECE 
AND IN-PROCESS 
INSPECTION

 CLAMPING THICKNESS 

NOTES :

HARDWARE SKU DEPENDANT ON DESIRED CLAMPING THICKNESS1.
FIXTURE ASSUMED TO BE .75" THICK2.
REFER TO TABLE 1 FOR CLAMPING THICKNESS AND CATLOGIC3.
REFER TO TABLE 2 FOR BILL OF MATERIAL4.

TABLE 2:

REVISIONS

ZONE REV. DESCRIPTION DATE APPROVED

1 INITIAL QUOTATION 10/5/2020 TM

ITEM 
NO.

PART NUMBER: 
HRDM58-050

PART NUMBER: 
HRDM58-200 DESCRIPTION 200/QTY.

1  91583A142 91583A151 5/8" A325 BOLT, HDG 1

2 98119A035 98119A035 5/8"  A325 WASHER, HDG 2

3 95160A240 95160A240 5/8" SPLIT LOCK WASHER, HDG 1

4 91694A320 91694A320 5/8" A325 HEX NUT, HDG 1

5  93190A632 93190A640 3/8" HEX BOLT, SS 595 MAGNI POLY 
COAT 1

6 90107A127 90107A127 3/8" WASHER, SS 595 MAGNI POLY 
COAT 2

7 92147A031 92147A031 3/8" SPLIT LOCK WASHER, SS 595 
MAGNI POLY COAT 1

8 91845A031 91845A031 3/8" HEX NUT, SS 595 MAGNI POLY 
COAT 1

TABLE 1

CLAMPING 
THICKNESS SKU
.375" - .500" -050

2.00 -0200
D

C

B

A

B

C

D

12345678

8 7 6 5 4 3 2 1

E

F

E

F

ATHIRD ANGLE PROJECTION

MATERIAL:

METRIC (mm)

ENGLISH (IN) .X
.XX
.XXX
X.
.X
.XX

DIMENSIONS ARE IN INCHES
DIMENSIONS IN [ ] ARE IN mm

ELECTRONIC CAD DRAWING.  DO 
NOT REVISE MANUALLY.

TITLE:

SIZE: DWG NO: REV:

SHEETVOL:WT:SCALE:SURFACE AREA:DO NOT SCALE DRAWING

FINISH:

APPR:

CHKD:

DRWN:

DATEAPPROVALS
.040
.020
.010
1
0.5
0.25

x.x

x.x

DENOTES CRITICAL
DIMENSIONS AND
GAUGE CHECK POINTS

DENOTES FIRST 
PIECE 
INSPECTION ONLY

FPC

PRODUCT MUST CONFORM TO ROHS
COOPER LIGHTING SOLUTIONS - CONFIDENTIAL AND PROPRIETARY
NOTICE TO PERSONS RECEIVING THIS DOCUMENT AND/OR TECHNICAL INFORMATION
THIS DOCUMENT, INCLUDING THE DRAWING AND INFORMATION CONTAINED THEREON, IS CONFIDENTIAL 
AND IS THE EXCLUSIVE PROPERTY OF COOPER LIGHTING SOLUTIONS, AND IS MERELY ON LOAN AND 
SUBJECT TO RECALL BY COOPER LIGHTING SOLUTIONS AT ANY TIME. BY TAKING POSSESSION OF THIS 
DOCUMENT, THE RECIPIENT ACKNOWLEDGES AND AGREES THAT THIS DOCUMENT CANNOT BE USED IN 
ANY MANNER ADVERSE TO THE INTERESTS OF COOPER LIGHTING SOLUTIONS, AND THAT NO PORTION 
OF THIS DOCUMENT MAY BE COPIED OR OTHERWISE REPRODUCED WITHOUT THE PRIOR WRITTEN 
CONSENT OF COOPER LIGHTING SOLUTIONS. IN THE CASE OF CONFLICTING CONTRACTUAL 
PROVISIONS, THIS NOTICE SHALL GOVERN THE STATUS OF THIS DOCUMENT. MATERIAL MASTER

5/8" HARDWARE KIT

C HRDM58  1

0.11 LB 1

HR
DM

58

L MOD: E0420542 10/6/2020

DIMENSIONS THAT AFFECT 
SAFE HANDLING OR 
OPERATION

S

TOLERANCE GENERAL

38.35 IN2 2.94 IN3 1 OF

 
 
 
 
 
 
 
 
 

ANGLES ALL 1.0

Co
op

er
 L

ig
ht

in
g 

 S
ol

ut
io

ns
 T

em
pl

at
e 

Re
v 

A

IP LEVEL:

DENOTES FIRST PIECE 
AND IN-PROCESS 
INSPECTION

HRDM58 Data  
MODEL # WEIGHT (LBS)
HRDM58-050 .65

HRDM58-200 .84



LUMASPORT 8 - Local

TD528018EN    page 11
March 26, 2025 12:59 PM

Example System Topology (Wired DMX Controls)
Example system topology showing the LUMASPORT 8 System in a commonly used wired DMX Control Installation. 
Refer to the specifications and limitations of your wired DMX control device before installing this configuration.

Example System Topology (Remote Access Point With Wired DMX Controls)
Example system topology showing the LUMASPORT 8 System in a commonly used remote access point with wired 
DMX Control Installation. Refer to the specifications and limitations of your wired DMX control device before installing 
this configuration. Note: Laptop and mobile device not included. A cellular network connection requires a cellular carrier 
network plan.

INTERNET CONNECTED DEVICES
ALLOW SECURE ACCESS TO 

LIGHTING SYSTEM CONTROLS WEB PAGE

Remote
Access Point

Front End 
Control Gear

Touch Screen
Controller

Keypad

KEY

RDM/DMX (BELDEN 9729 CABLE) 

Ethernet

* #  

EPHESUS LUMINAIRES

REMOTE ACCESS POINT TO DMX SYSTEM CONTROLS

KEY

RDM/DMX (BELDEN 9729 CABLE) 

Wired DMX 
Control Device

EPHESUS LUMINAIRES

NOTES:

Remote Access Point requires either a wired Internet connection at the lighting system site or through a cellular carrier network connection plan.



Ephesus Sports Lighting
125 East Jefferson Street
Syracuse, NY 13202
P: 800-573-3600
www.EphesusLighting.com

© 2025 Cooper Lighting Solutions
All Rights Reserved.
 
Specifications and dimensions 
subject to change without notice.

TD528018EN    page 12
March 26, 2025 12:59 PM

LUMASPORT 8 - Local

Example System Topology (Wireless AirMesh Controls)
Example system topology showing the LUMASPORT 8 System in a Wireless AirMesh Control Installation.  
Note: Laptop and mobile device not included. A cellular network connection requires a cellular carrier network plan.

INTERNET CONNECTED DEVICES
ALLOW SECURE ACCESS TO 

LIGHTING SYSTEM CONTROLS WEB PAGE
OR WEB APPLICATION AIRMESH HUB

LAN CONNECTION

CELLULAR 
CONNECTION MESH NETWORK

EPHESUS LUMINAIRES

KEY

Ethernet

Example System Topology (Contactor Controls)
Example system topology showing the LUMASPORT 8 System in a Wired Contactor Controls Installation.
Note: Laptop and mobile device not included. A cellular network connection requires a cellular carrier network plan.  

KEY

Electrical Power Wire 

* #  

1 2 3 

4 5 6 

7 8 9 

0   

EPHESUS LUMINAIRES

Logic Monitoring 
Device

OPTIONAL KEYPAD

Logic Control Panel

Contactor PanelINTERNET CONNECTED DEVICES
ALLOW SECURE ACCESS TO 

LIGHTING SYSTEM CONTROLS WEB PAGE


	Prepared by 3: 
	Notes 3: 
	Date 3: 
	Project 3: 
	Catalog # 3: 
	Type 3: 
	Rating 2: 
	Family: 
	Model: 
	CCT: 
	CRI: 
	Power 2: 
	Color 2: 
	Optic 2: 
	DC Cable 2: 
	Text Field 22: 
	Text Field 30: 
	Text Field 31: 
	Text Field 32: 
	Text Field 19: 
	Text Field 20: 
	Text Field 21: 


